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1. (A) Write a detailed note on economic model. 245 A3ct Uz QA Uk vl

(B) Solve the following simultaneous equations using inverse matrix.

ol v ot uxls28el B3t carad a@&rﬂ_ Heesl 20k,

2X-4Y +32=3
4X ~-6Y +5Z2=2
DX+ Y - Z =1

OR (&)

1. () Explain the input-output model of Leontief for closed economy.
oltd Azt 12 [@Qulllodgett Bl ~ uula Wetell Artagell 20,

(ii) Subject to the following constraints, optimize the given objective function using linear planning.

ol2all 22cllel 2ot et dcgetall lsuR 2w Aot GUAL 59X Sredn 53,

Objective function (%rj,c't&ﬂ [@Ba); C = X +2Y where (al), C=cost (W)}

Constrains (Uldolt); 9X + 2Y > 17

3X +4Y > 19
2X + 5Y > 15 |
Non-negative conditions (4ej@l 2l); X > 0 and () Y > 0

2. (A) Define the probability, Discuss in detail various elements and events of probability.

Helclotlnl calvuget 53, dellaolel {QAQAY Uzl HA uzeizlloll Qo1 wal s3.

(B) Find out which series is more consistent among the following series.

ollAett 1ol 56 Aol ctd Adcader B A N

Class (c2l) 10-20{ 20-30| 30-40] 40-50] 50-60] 60-70

Series-A (Bell-A) 10 | 18 | 32 | 40 | 22 | 18

Series-B (QQ& -B) 18 22 40 32 18 10
OR (wYdl)

2. (i) Discuss the various measures of dispersion. YRell (Y HQlell 2 53
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(i) There are 20000 families in a town. Out of them 12750 families are of farmers, 6500 families are 09

of landless labourers and 750 other families. There are 6750 families are living below the poverty
line. Using this information find out the probability for a randomly selected family from them is
from (1) BPL families, (2) landless families and (3) BPL and other families.
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3. (A) Explain the rules of differentiation with appropriate illustration. , 08
[Qsctotell R o2l Gelg0t WA e, '

(B) Using the following information find out Karl Pearson’s coefficient of correlation, 09

oAl 1R ellell GuloL 531 516 Nutaietoll Usioitis D

X 15-20 | 20-25 | 25-30 | 30-35 | 35-40 40~45. 45-50 | 50-55 | 55-60
Y 80 78 57 50 40 30 25 10 3

OR (A& cll)

3. (i) Explain the method of rank coefficient of correlation with appropriate illustration and compare 08
this method with the product moment method.

suls Medicltlsell At Mou Gelayl WA UHAA A Aoll YBlotylict ULtR WA detoll 52,

(i) Find out the minimum average cost if the cost function is given by C = 36x — 10x? + 2x°. Find the 09
marginal cost at the point.

Al A0 WA (A2 € = 36x — 105> + 257 A A oYotcirt w22A9L W QL 2l g lnid
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4. (A) Describe the concept of regression. Write a detailed note on regression line. 09
Ratdziclueit vauetell 2ol u0Q. Racdrioiu Yo A2 otz old el

(B) Construct the index number using the method of weighted average of relative prices. 09
et BEulell etRet 2Rl wer@aDl UL 5AN Yusuisell 220 53,

Commodity | Price ((E1d) Quantity (r2dl)

(=) 2001 T2015 2001
A 250 | 10 15
B 3.00.!1 18 10
C 1.00 7 5
D 125 | 10 3
E 20,00 | 80 0.25
F 12.00 | 21 I.5
G 125 1 1.75 40

OR (el
4. (i) Write a detailed note on various tests for determination of the ideal index number, 09
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(ify There are 1500 students in a college. Out of them 20% students are staying in hostel. 8% of total (9
students have failed in examination. In failed students the number of hostellers is 20 more than

non-hosteller students. Using this information find out the associationship between staying in
hostel and success in examination.

As SAwul 1500 Qaiell B, Auiel 20% Qeusll Srdctui Rcl B, st [Qanallleu gy
Qanell udlaunl vicwrt 2z B, ottww otz Qenellohni ARl 3l QaneleAl et
ARetil ot 3l RanalRA st 20 at? sl v WRAA Guat AN A 600 U
el Asncl Aol JQUALs dold L. :

S, | G

(2)




